

/

SOUR BEEF, DUMPLINGS AND OYSTER SUPPER (Tickets \$6.00 each)
 Tuesday, Wednesday - October 26, 27, 1982

Number of persons served (approximately)	1009	
Number of carry-outs	"	<u>191</u>
		1200 (approximately)

FINANCIAL REPORT

Total cash received from tickets, fancy table table, homemade candy, shares, etc.	\$ 8,380.00
Total expenses	<u>3,920.30</u>
Net profit from Supper	\$ 4,459.70

Grace E. Fader, Chairperson

Lillian Single Smith, Ticket sales

Young Women's Guild, made and sold homemade candy

Edwin Myers, number sales
 The Ladies Aid Society, sold donations of cakes and fancy items.

Ann Hoffman, Show sales
 George Tuerk, Ticket taker at door of church school.

Margaret Craig, Hostess
 Approximately 100 persons representing church, organizations,

Boy and Girl Scouts helped to make the supper a huge success.

Appreciation is express to all who helped in any way possible to make this supper so outstanding. Everyone was needed and everyone did his or her part. A beautiful group working for the good of the church. Thank you one and all.

Grace E. Fader
 chairperson

Grace E. Fader

PURCHASES:- SOUR BEEF & OYSTER SUPPER

October 26, 27, 1982

ARISTON PAPER COMPANY		\$ 74.15
1 carton small plates	\$ 23.45	
3 boxes Del. wax paper 12x10"	10.95	
800 - 8 oz. foam cups	11.20	
200 foam large hinged section plates	17.20	
125 oval platters mobil TK10045	7.85	
125 SQ6 Foam hinged trays	3.50	
FOOTIES PRODUCE CO.		135.25
15 - 50 lb. bags potatoes \$5.00	75.00	
7 crates green cabbage	} 60.25	
12 bunches celery		
8 bunches carrots		
15 lb. onions		
15 lb. green peppers		
ESSKAY MEAT COMPANY		1,408.91
1 box hotdogs	9.12	
815 lbs. sirloin tip beef @ \$1.63	1,328.74	
✓ 15 doz. eggs	13.05	
100 lbs. Esko	58.00	
MRS. SMITHS PIES		238.50
48 45 pies - Tuesday	} \$18.35 (estimated cost of pies) see page 3	
48 45 pies - Wednesday		
ATLANTIC FISH AND OYSTER COMPANY		1,095.00
39 gal. Oysters @ \$25.00	975.00	
5 gal. Oyster @ \$24.00	120.00	
MONARCH FOOD COMPANY		221.05
3 gal. Wesson Oil @ \$7.25	21.75	
1 case 24 -14oz. catsup	14.85	

SOUR BEEF & OYSTER SUPPER, Oct. 26,27, 1982, continuedMONARCH - continued

24 gal. white vinegar 6 to carton	\$5.65	\$	33.90
2 cases tomato puree(8 cans)	19.00		38.00
100 lb. medium cracker meal			60.80
100 lb. sugar			43.80
1 case sale* - idolized			7.95
O-GO SALES			\$ 40.74
3 ROLLS PLASTIC TABLECLOTH@ 9.00	27.00		
1000 gold placemats	13.74		
FOODARAMA			5.14
1000 napkins	5.14		
MARS SUPERMARKET			364.08
13 cases seaside butter beans	11.28	146.64	
55 boxes gingersnaps	1.49	81.95	
10 instant Maxwell House Coffee	3.89	38.90	
45 bags 5 lb. gold medal flour	.88	39.60	
10 lb. Land of Lakes Oleo	.69	6.90	
1 case milk		21.12	
10 large cans pork and beans	.89	8.90	
200 paper plates	1.09	2.18	
2 jars kosher pickles	1.49	2.98	
1 Lipton Onion soup		.75	
6 cans corn	.43	2.58	
3 large cans tomatoes	.95	2.85	
2 large dawn detergent	2.77	5.54	
3 large Brillo	.89	2.67	
		.52	
MISCELLANEOUS PURCHASES (total amt 197.05)			
Hoehns Bakery			
4 dozen buns 10/26		9.40	9.40

FOOD NEEDED FOR SOUR BEEF AND OYSTER SUPPER (1982)

- 130 lb. sugar ✓
- ✓ 1 case (24) 14 oz. bottles catsup, ^{don't ask} (plus 12 extra bottles) ✓
- ✓ 3 gallon Wesson sale oil (for salad only) some on hand ✓
- 100 lb. medium cracker meal ✓
- 26 ✓ 28 gallon white Monarch vinegar ✓
- 1 ✓ 8 cases (8) No. 10 tomatoe puree (some on hand) ✓
- 635 815 lb. sirloin tip ungrozed beef (8-12 pound pieces) ✓ (840 lb.)
- 100 lb. Esko ✓
- 21 doz. eggs ✓
- 1 box 60 hotdogs ✓
- 2 5 lb. can pickling spices (needed for 1983) 20 small cans (7) ✓
- 1 5 1 lb. cans black pepper ✓
- 15 bags (50 lb. white potatoes) ✓
- 7 crate green cabbage ✓
- 12 bunches celery ✓
- 8 bunches carrots ✓
- 15 lb. onions ✓
- 15 lb. green peppers ✓
- Lunch meat for Tuesday (Approz. 8 lb.) ✓
- 6 gal. white milk ✓
- X 7 doz. hot dog rolls ✓
- 6 Large cans Bake Beans ✓
- 200 paper plates for lunch, etc. ✓
- 2 large jars bread and butter pickles ✓
- 1 Lipton Onion soup - for beef Supper on Monday ✓
- 6 cans corn - for supper on Mon. ✓
- 3 large cans tomatoes - for supper on Mond. ✓
- ✓ 3 large boxes soap pads (check with caretaker if on hand) ✓
- 2 large Dawn dish detergent ✓
- 6 doz. buns - lunch, brunch, Monday ✓
- 1 cake - supper - Monday ✓
- 6½ doz. buns for Tuesdy lunch, brunch ✓
- 6 loaves fresh bread - lunch and supper, Monday ✓
- 16 stale bread ^{See Smith} ✓
- 44 gallon Oysters - used selects this year - did not get as many ✓
45 paddingg when using standard ✓
- 1000 6" plastic pie plates ✓
- 1500 white napkins ✓
- 1 Case salt ✓

use

FOOD NEEDED FOR SOUR BEEF AND OYSTER SUPPER (1982) continued

- ✓ 2000 place mats ✓
- 3 boxes 12"x10" deli wax paper ✓
- 3 rolls 40"x300" plastic white table cover *omit* ✓
- ✓ 1500 8 oz. styrofoam cups ✓
- X ✓ 1 carton, 250 large foam hinged carryout trays ✓
- ? 125 hamburger foam trays for candy
- ? 125 7" white oblong trays for candy
- 13 cases cooked dry butter beans in No.2 cans ✓
- 55 boxes, 16oz. ginger snaps ✓
- 10 jars (10 oz.) instant Mazwell House coffee ✓
- 180 lb. gold medal flour ✓
- 20 lbs. Land of Lakes oleomargine ✓
- 1 case, 48 cans milk ✓
- 1 gallon burnshine cleaner for Oyster fryer - *W. Mack* ✓
- 40 loaves Woelfer bread, Tuesday ✓
- 40 loaves " " Wednesday ✓
- Lunch for Tuesday and Wednesday (lunchmeat both days) ✓
- 1200 printed supper tickets ✓

177
 don't order